

## Lecture 17

Pl:

•  $\mu = \int_{-\infty}^{\infty} x \cdot f(x) dx$

•  $\sigma^2 = \int_{-\infty}^{\infty} (x - \mu)^2 \cdot f(x) dx$

•  $\sigma = \sqrt{\sigma^2}$  is standard deviation

•  $\sigma^2$  is variance

•  $\sigma^2(x) \rightarrow$  var. band

• find  $f(x)$  for distribution

• machine (algorithm) create estimates with error divided by  $\sigma$

$$P(|X - \text{true val}| > \epsilon) = \dots$$

Sampling

$$X = \frac{1}{N} \sum_{t \in I} X_t \cdot |S(H)|$$

Sketching

$$X = \sum_{t \in I} \{x_t\} = \sum_{i \in I} \{x_i\}$$

$$Z = X^2$$

# Size of Join Estimation

$R, S$  : relations

$A$  - common attribute

$$|R \bowtie S| = \sum_i p_i q_i = \langle \bar{p}, \bar{q} \rangle$$

$d_i$  - deg of  $i$  in  $R$

$s_i$  - " " " "  $S$

$$X_R = \sum_{t \in T} i_t = \sum_{i \in I} d_i \cdot i$$

$$X_S = \sum_{t \in T} j_t = \sum_{j \in J} s_j \cdot j$$

$$X = X_R \cdot X_S$$

$i \in \{1, \dots, d_i\}$  : id of  $i$

$$E[N] = \frac{1}{T} \sum_i d_i s_i \cdot \langle \{i, j\} \rangle$$

$$= 0$$

$$\bar{p} \cdot \bar{q} = \langle \bar{p}, \bar{q} \rangle$$

$$E[X] = \sum_i \sum_j d_i s_j \cdot t(\{i, j\})$$

$$= \sum_i p_i s_i \cdot d_i$$

!

$$E(x^2) = E(x_n^2) = \frac{1}{n} \sum_{i=1}^n E(x_i^2)$$

$$= \frac{1}{n} \sum_{i=1}^n (E(x_i^2) + E(x_i^2) - 2 \int_{-1}^1 x_i^2 p(x_i) dx_i)$$

$$= \frac{1}{n} \sum_{i=1}^n (E(x_i^2) + E(x_i^2) - 2 \int_{-1}^1 x_i^2 p(x_i) dx_i)$$

$$E(x^2) = \frac{1}{n} \sum_{i=1}^n E(x_i^2) \leq 2 \sum_{i=1}^n (R) S(S)$$

$$1. x, y \in \langle 4, 5 \rangle \Rightarrow \langle x, y \rangle^2$$

$$\langle x, y \rangle = \langle x, y \rangle \cdot \langle 4, 5 \rangle \cdot \langle 4, 5 \rangle$$

# Possible generalizations

1° General as set over joins

$$P(A, B) \quad S(A)$$

$$\sum_{t \in PMS} t.B =$$

$$= \sum_i \tilde{s}_i \cdot \delta_i$$

2° Multiplication

$$\underbrace{R, S, T}_A \quad \underbrace{\quad}_B$$

$$\downarrow \quad \sum_{t \in R} \{ \quad \} \cdot t.B = \sum_{i=1}^n \{ \quad \} \cdot \underbrace{\left( \sum_{t \in S} t.B \right)}_{\tilde{s}_i}$$

$$\underbrace{\sum_{t \in RWS}}_{\quad} t.B = \sum_{i \in I} \underbrace{s_i}_{\substack{t \in R \\ t \in S}} \cdot \left( \sum_{\substack{t \in WS \\ t.A > i}} t.B \right)$$